MK 7"7'010 R,7 A L7"'02

That slave has no recourse — 7IPn Y PR TAYT NN

OVERVIEW

R ruled that if the master of an 72¥ 1s 7°pon the 72y, that 72¥ has no recourse,
because the master no longer owns him, except for the M0°X aspect (that his status
is of an 72¥ not of a P77 12), and the master cannot grant him (that he should be
relieved of) his M0 status. There is a dispute between """ (elsewhere) and n1vOIN
(here) as to the meaning of 71PN Y% PR 7297 NN,

— '9ry5 DALY YT ANV KDY PN N33 KY W1
The explanation of 71pn 1% PX (according to °"w) is that the 72y is permitted
neither to a ®>X7w> n2 and neither to a 775w as >'"'w explained previously —

mooIn disagrees with >"w7%:
-5 31"110Nﬂ 9212 NYAY 1Y (4,05 91 999 VINT 2N PN

And o010 does not have this view, since °"7 71X XaR 92 W 27 stated

previously regarding a slave who escaped prison, etc. he is freed -
— 1790 13 N DYIP 129 NN PAIIY RN MY XD

And not only is he freed, but 7"2 also forces his master to write him a M7Ww v

and make him into a 3°97 32 so he can marry a P11 n2. This concludes the citation of that
X3, Now n1901n concludes his question on >"w75 -
— 199N H122) HNOYA NONT 1P N 12T NDIW |9 $1UM N INM)

But what is "1 7R X"2w" teaching us; it is obvious that we force the master to
make him a 771 13, since in his present state, the 72V is forbidden to a fnow and

to a I N2, so his status now is -
- 5]"”1‘\ 132 8N T2 28N D

Like one who is half slave and half free, where 7" 2 forces the master to free him

! ('RT) mapn 15 PR 772 2,09, 2" said this regarding the case where the master said >72y *11797 *nwRn1.
2 g1 premise is that an 72y who does not have any monetary obligations to his master (for instance here where the
master freed him), but still has the MoK status of an 72y (like in our case where he did not receive (and [still]
requires) a MW v after the 7pon), this 72v is 70K to both a 7rdW and a 771 n2. However Mmoo disagrees and
maintains that he is 719w2 0, and 7oK only 717 N2,
3 The status of this T2y is the same as the case of >72v 17951 snwx»n1, for here too the master was wx>nn from this
72v, since he was in a 0>M0K8:7 n*2 (he is N1 X¥), on the other hand he still requires a 7MW v3 for the MO 7.
* This 72y (who has no monetary obligation and yet requires a MM W) is, according to w1 (see previous
footnote # 2), 710X for both a oW and a P n2. See ‘Thinking it over’.
> An 729 who (for instance) had two masters (partners) and one of them freed the 72y, this 72¥ is a 72 XM 72¥ X1
1", he cannot marry a 715w for he is a 117 12 °¥1, and he cannot marry a "1 N3, since he is a 72y *xn, therefore
the remaining master must free him in order that he marry (a 777 n2).
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completely. So obviously here too, by an "1 7172w 72v, since he is 71 N2 AMOW2 MOR, the
master is obligated to emancipate him.

mdoIn presents an additional question on *"w7%:
—199NY MNT X2PDT S99 9aNT XN )P

And similarly that which the s»%219 71270 states that in a case where the master

(who is a ¥y 2°0w) said, ‘free the slave’, the rule is that 7"2 -
— NN 92T 0PY MINN DIVN DIWIN NN PP

Forces the heirs to free the slave because there is a mx» to fulfill the wishes of

the deceased; this concludes the 7w, the question is why mention n» 327 0»ph mMyn -
— 199N N2 NNOYA 9ONT DIVN N PI9N

You can derive that w177 DR 1°912, since this 72¥ is 977 D22 ADWa TIOK.

mooIn offers another proof against >"w7°5:
— N9 13 PYNY 139 130T 1IN (3,75 97 MINIDT RINI 7193

And in the last P92 of N2 noon, the X713 states, the [2''n of] 3" 2w maintains
— 12992 DOIN MINY V) 22PN NINY V) 7998 MINY RYY 1713y 9Pann

One who is =°pp» his slave, the slave goes free, but he needs a =W v (to
marry a 71 n2); and the rule is that one who is lacking a 219w wa (like this 72V)

may eat 77210 (if his master is a 175). This concludes the *n%w1°. NMdOIN surmises -
— NNAVYA 9) YIVT NMIINA YIINT 1979 N92AN©M

And it is logical that since he may eat ;7219n, he is also permitted to a oW -

Y ANOYA YAR AINP 1PN N2 NIPN 1Y PNRT AN a9
So therefore it is the view of m»on that 7pn Y% PR is referring to a 77 n2;
however this 72y who was made 7577 is permitted to a 7w,

SUMMARY
*"W1 maintains 172¥ 7°po17, he 1s 17717 N22Y AnOWw2 70K while M190I0 maintains he is
TmOWw2 N and 1" D22 MON.

THINKING IT OVER
mooIn asks what is the w1 of & X"2wA that 121 127 nX 1910.° Seemingly the
Y171 is that a 0w makes him free, not like the view of 92’ here!’

6 7" X"s, in our "YW’ it is on X,M.
7 The marginal note amends this to 3"2w97 p"1.
¥ See footnote # 4.
? See [TxA] X"wAn.
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